Week 4

1 1=3=
2 bxh=
3 L= 1=
4 Ix=
5 | 9=x12=
6 1=7=
7 bxg=
8 | 2=x1=
2 1x5=
10 | 12=6=
1 7=h5s=
12 | 6x9-=

1 54 = 6=
2 | 40+5-=
3 |60+5=
4 30+3=
5 6+3=

6 |99 +11-=
7 108 =12 =
8 30+ 2=
9 |33+11-=
10 | 28+ 7=
n | 70+7-=
12 | 9% +12 =




Arithmetic

9999 +1 =

1 mark
495 995 + 1000 + 1000 =

1 mark

319483

+ 49 627

1 miark
230000+ 370000 =

1 mark
J=10=

1 mark
n_4_
9 9

1 mark

35621 + 7091 =

1 mark




760000 - 48000 =

1 mark
60 =80 =

1 mark
Jgl=4=

1 mark
45 679
- 27735

1 mark
7+ 3500 = 3400

1 mark
1
— =
5

1 mark
4800 =80 =

1 mark




2451 =9 =

1 mark
643 =9 =

1 mark

1 mark
234901 -87 516 =

1 mark
1—=3=

1 mark
F-1=

1 mark

25

= 85

2 marks




1P+ 2+ 5=

1 mark
h.29
® ]
1 mark
2.7 _
3012
1 mark
24.56 - 3.056 =
1 mark
2478
= 28
2 marks
Rhd=+=4=
1 mark

| L
=

1 mark




